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COURSE NAME: Arm Based Embedded System Design
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Note: All questions are compulsory. The carrying of mobile phone during examin ops will be

treated as a case of unfair means. @ “’%

1. (a) Write the instructions for binary contents of memory exeu? ing | lging C

statement: Gn,
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JExpé}%%fetch Decode Execute Cycle for assembly code - [4+3]

%g@ ﬁ?kglam the following Data Processing Instructions.
i, & Arithmetic Operations
\«K@g Logical Operations. What is the value of 0 using BIC r0,r1,r2
e il 1l 0101 0011 10101111 1101 10100110 1011
2 1111 1111 1111 1111 0000 0000 0000 0000
r0: :
iii.  Register Moves
iv.  Comparison Operations
(b) Explain the following Data Transfer Instructions with Example
i.  single register load/store instructions
it.  Set up the address pointer
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iii.  Base plus offset Addressing {3.5+3.5]

3. (a) Translate the following program in ARM assembly.
If ((a==b)&&(c==d))
++e;
(b) List all the conditional Instructions in a table with CPU condition flags.

(¢) Write the expressions for following instructions
i.  ADDr3,r2,r1,LSL#3
ii.  ADD r5,r5,r3,1.SLr2
4. (a) WAP to print - Hello world!
(b) WAP to implement for loop in ARM assembly.
(c) WAP to block copy from one address (TABLE1) to ano d2), then write it
[2+2+3]

ent the following

out
5. {(a) Explain the ARM/Thumb interworking using

%j

nd set bit0=1 to arrive at target in

algorithm in assembly.

I. Main: Generate branch ad
Thumb mode. Initiakj

2. ThumbProg: Set viius
Thumb state,

3. ArmProg: g@\gﬁor r4, r5. Sum r4, r5 to r4. Executed in ARM
state.

4. Stop; Te

te
r r2 r3. Sum r2,r3 to r2. Executed in

ate the program.

(b) Implement Thu N Tnstruction Mapping in 32 bit register  [4-+3]



